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Second Semester B. Com Degree Exammatron May 2019
' First Degree Programme Under cecss
o Complementary CourseICore Course
| BUSINESS REGULATORY FRAME WORK

(Common for CO. 1231/CX 1231/CC 1231 (2014 Adm to 2017 Admn) and
‘_\ S CO 1242/CC 1243 (2018 Admn )

: .Time:QHOUrs I e . - MaX;_iMarks,:,SO /

Lo SECTION -A

- ,Answer aII questlons in one word or to a maxnmum of two sentences each Each.;
_questlon carries 1 mark . .

B R 'Defne agreement.

2 What isa standing ofrer'? '

5, 'Def ine undue lnﬂuence |

N 4 ‘What is a counter offer’? |
s, -.»Deﬂne the term ‘Quantum merunt’ | _
| 6‘.'_ _In whlch year the sale of, goods act was passed’?
7 Defi ne_ballment._ | o
8 Whatis caveat emoior? '.
9. Whoisasub agent?
10. Expand TRAL. B T
' L - 0 o - (10x1=10 Marks) '

"P.T.O.



15,

7

- 18.

22

Answer any erght questlons in not exceedlng one paragraph each Each questrong .
' camesZmarks - -

M.
12.
13,

14.

16,

17.

19.
- 20.

21,

23.

24 Drscuss the essentrat features of a contract of guarantee .

What ie.an implied contract? ".

‘ '.What is fraud?

 SECTION ~ B

What is wagering agreement? "'

"What is dlscharge of contract'? o

What do you mean oy the term ‘Exemplary Damages :

What is the object of a contract of mdemnlty’?

What are the essentlals of barlment? | S

What isan auctron ’sale?;

‘Mention any four functions of IRDA act.

Who is an alien enemy? -

)

When does the nominal damages are awarded? . -

What_ is a joint prornise?' B

“SECTION-C

~

Explain‘ the different types of offer.

g 25 Drscuss the duttes and lrabllltres of a f nder of Iost goods

-
‘ .

. (8x2=16 Marks)

~ Answer any six questions in about 120 words each. Each question carries 4 marks:
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| 26
: 27
2
:'l'29,-
| 30,

31,

Dlscuss the essenttals of ratifi catlon

‘What'are the 'implied conditions as per the sale of go'ods"act 19307
-Dlstlngunsh between sate and agreement to sell

._Dtstmgu:sh between contlngent contract and wagenng contract

Dlstlngmsh between pledge and Ilen

Descnbe the dlfferent types of Intellectual Propertles '

o (xd=24 Marks)
| SECTION-D SR

-

Answer. any two questlons in not exceedlng 4 pages each Each quest:on carnes

15 marks

32.

33

34.

35

-DISCUSS the dlfferent methods of creatlon of an agency

Explam capacuty to contract DISCUSS on the persons mcapable of entermg |nto a
valld contract - . .

Def ine condltlon and warranty Bneﬂy exptam the condlttons and warrantles:l |
tmplled by law in a contract of sale of goods ' :

Explain the Doctrlne of Caveat Emptor What are the exceptlons to the Doctrme
of Caveat Emptor? . . , . .

LS ~

-+ (2x15=30Marks)
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~ Second Semester B. Com 'Degree :E)"(amina-t'iOn May'2‘019 .
| \ Flrst Degree Programme Under CBCSS ‘
Core Course Il : CO 1242/CX 1241/CC 1242/HM 1241

FINANCIAL ACCOUNTING o

(Common for Commerce/Commerce and Tax Procedure and Practlcel
: Commerce with Computer Appllcatronleommerce and Hotel .
RS Management and Catermg) '

| ' (2014 Admission - 2017 Admlssw‘n) | |
Tir‘ne—; 3 Hours - B | IR | M'ax. Marké .80
| | - '”_s_ECTJON.;'A_ | | |
' 'An.s‘wer all gueeﬁions. Eagh.quest.io‘n oarries 1; mark :
ST ,Gi\re 't.h'le hire .v‘en'd'or’s entry for repoS$ession ofgoods._
2 Whatis Primage?
3. Where d.o. you-’open the Generai Ledg’er' Adjustment ac’counf? .
' '4'. | How do you disclose la ~(5ontingent I‘iability rn finanCiaI'\stateme.nts’?

' 5. Which accounting principle is inherent in' valuation of stook?.-

6. What is meant by closing entries?”




~ What is Suspense account? '

Give the full form of ASB.

List the errors affecting two or more accounts.

- WhICh is the most suttable method of deprecnatuon for hvestock’7

(10 X 1 =10 Marks)

SECTION -B

' VAnswer any eight questlons is not exceedlng one paragraph each Each quest|on

carnes 2 marks :

.

12,
13,
14,
15

16."

17.

18.

State the features of account_ing-principljes. '
What are the essential characteristics of instalmen_t purchase 'syster'n?' -
Dis‘tinguish between outs'tanding income and accrued income.

What i is Contlngent asset’? Grve an example

'State the meanmg and obJectlve of cash dlscount

After prepanng flnal accounts W|th an agreed trall balance a trader has found two . |
" mistakes; (a) purchase book had been overcast by Rs. 1,000; (b) Rs.100 .
discount allowed had been debited -to customers account. Show the effect of

these errors on tradmg and profit and Ioss account f

If the opening. stOCk of - materials is Rs. 5,000; purchases - of matenals ts:
‘Rs. 20,000; closing stock of materials is Rs. 10,000and sales are Rs..25,000;
- whatis the value of raw matenal Consumed’? ‘ :

The trall balance shows the debtors Rs. 60 000 and bad debts Rs 10, 000 If the

. trader further decides to. write off bad debts of Rs. 2,000 and make a provnsuon of
10 % for doubtful debts, pass the adJus‘ung entnes

2 o L . G-2514




B PRt SPEIRY

B '1"9. A Machine was’ purchased for RS,SOOOO on 1-1-2004 and its .'usefu’l life is

3 years. Compute the yearly depreciation under fhe:sum of digit method.
20. 'What.a're features of s'ectional balancing sys_tem?

- 21 Grve an equatron for preparing tradlng account to show gross profrt with
| imaginary fi gures : :

-22. " State the 'main.'caus'es of depreciation. . | - (8x2 = 16 Marks)
 SECTION-C

~ Answer any six questlons in not exceedlng 120 words each Each questron carries
4 marks :

23.- Briefly explain the accounting conventions.

24 MF. X purchased a ma'e'hrne on hire purchase system on 1-1-2010. He paid
Rs. 5,000 at spot and then three annual instalments of Rs. 5,000 each: The rate
~ of interest was 5% per annum.. ‘Find out the cash prlce of the maohrne

25. A machrn‘e wasacquured _on,1-1.-2012 at a cost of Rs. 19,000, the cost installation *
being Rs. 1,000, it is expected that its total life will be 40000 hours. During 2012 -
it worked for 4000 hours and durrng 2013 for 2000 hours. Write up the Machrnery

§ " account for 2012 and 2013,

@ Make the transf'er and self balancing entries er'the’follewing T

" (a) Sold goods to Y Rs. 5,000, purchased goods.f'rolrn Y Rs. 500 (b) sold gvod.s |
for Rs. 100 to Z, the clerk in the firm in payment of the outstanding salary to him. -

27. The capital account as per the.trail balance of a business of Mr. Y-on 31-12-2014":
~ showed balance of Rs. 20,000/. He had introduced Rs. 5,000 into the business
‘on 1-7-2014. [f the interest on capltal is to be allowed at 10%. p.a. pass entry on
* interest capital and show treatment of the same: |n final accounts of Mr Y as on
- .31-12-2014. ~




- 28.
29.

30.

-3t

32.

33

Briefly discuss the need for prdviding depreciation.'

A manufacturer sells away a part.'of the plant for Rs. 60,000 on 30" June 2014 at
a profit of 20% on the book value as on 1 1-14. Deprecratlon is to be wntten offat -~
©20% p a. Show the plant account.

RN

Give a note on containers trading account: -

A trader mamtamed a provrsnon for doubtful debts @ 5% WhICh on 1St January~

2013 stood at Rs 1,500. His balances on 31% December 2013 and 2014 were as
' foliows : : :

o _ 31 December 2013 31St December 2014
' Bade debts writtenoff 1,800 . - 300
Sundrydebtors - 20000 6,000

' Show the provision for doubtful account. . (6x4=24Marks)

SECTION-D

- Answer any two questions. Each queetion cerr.ies 15 marks ;- o

What is meant by trail balance? Discuss its main objects and limitations -and also

_illustrate the methods of preparing a trail balance'.-'

An Indian sh|p commenced a voyage on 1- 10 2014 from ‘Mumbai to Chennal _
The detarls of the complete voyage to- Chennai and back to Mumbai-were as
follows' (Rs) Coal consumptlon 70,000, Port charges 14,000; Depreciation
40,000, Sundry expenses 4 000, Wages 8,000, Freight 4,00,000, Stores *
. Consumed 30, 000, Salaries 48 ,000, Ship insurance 40,000, Freight insurance
. 16,000. Primage 10%, Address commission 5% Freight relating to return journey

was 1,20 ,000 only. The accounts are closed on 31% December. The ship-was on

her ‘half way back to Mumbai on the’ date of ciosmg the accounts. Prepare‘ E
voyage accounts up to 31-12-2014.
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34

Mr R purchased seven trucks on hire purchase on 1-7-2012. Cash price on each ’

‘truck was Rs. 50,000/. He was to pay 20% of the cash purchase price at the time
. of delivery and the balance in 5 half yearly instalments starting from 31-12-2012
. with interest at 5% per annum. On R’s failure to pay the instalment due on

30-6-2013, it was agreed that..he would return 3 trucks to the vendor and

. remaining 4 could be retained by him. The: returnlng price of 3 trucks was 40 500.

- Mr.R charges depreciation at
Rs. 1,500 on thoroughly overhauling the trucks and sold two of them at -

20% per annum. . The Vendor spent

‘ Rs. 26,000. Show the truck and vendors accounts in the books of Mr. R and’

Goods repossessed account in the books of vendor.

- From the foIIowrng balances you are required to prepare Trading and Profit and

loss account for the year ended 31-3- 2045-and a balance sheet on that date after
makrng the adjustments. ' ‘

Rs. - - Particulars

Particulars - Rs.
“Y—’s_CapitaI' | 2,28,800 | Discounts (Dr) 1,320
Y's Drawings 13,200 | Sundry Debtors 29,260 |
Pl.alnt and machinery |  99,000|10% Loan to.Mr.Z(1~-4-14) 44,000
Freehold property | - 66,000 | Cash - 131,900
[Puchases . | 1.10,000]Bilis payable 5,500
Réturns Outwards 1,100 | Freight 9,900
| Salaries. 13,2‘00' Loose tools 2;200
.| Stock 0nl1-4-_14 | 38,500 | Factory Lighting 1,100
Wages 35,200 | Prov. for Doubtful Debts 880
| Sundry creditors - 44,000 | Interest on.Loan.toZ 1_,100
Stationery 3,300 | Sales 2,31.440
Fuel 2,970 Oﬁice expenses_.;‘ ' 5,610
| Bad debts 660 | Furniture | 5,500 |
5
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. o Adjustments

(@)

(b)

‘Stock on 31-3-15 Rs. 72,600 - o |
Deprec:ate\ Plant, ‘Furniture and property @ 331/3%, 10% . and-. 5%

respectively

Loose tools are to be valued at 1760.

Further bad debts to be wrltten off 600 and mamtaln a prowsmn for doubtful.

debts at 5% of debtors.

A new machine was mstalled durlng the year costmg Rs. 15400/ but it was

not recorded as no payment was made. Wages Rs 11,00/on mstalla'uon of it

T was deblted to wages account.

(2 x 15 = 30 Marks)
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- Second Semester B. Com Degree Exammatlon May 2019
Flrst Degree Programme Under CBCSS |
. Foundatlon Course o e
' CO 1221/CC 1221 : INFORMATICS AND CYBER LAWS | -
_ (Common for CO 1221/CC 1221 (2018 Admn. ) -
Trme 3 Hours T Max.-Marks:SO',
: SE»CTION—A“'

~ Answer all questlons in one word or to a maximum of two sentences each Each -
A questron carries 1 mark. . : . ST

| 1 ,What is MAN’?

2 Whatis a blog’?
3 thavtAls adata?
4, Expand.‘ BRN ET. |
5. What s léo'N?."

7. Whatis digital divide?
8. Whatis localization?
9. Whatis spam?

©10. What s hacking? - | C - (10x1=10 Marks)

l

f

{

E

- 6 Whatiseweser R
-

. P.T.O.



g

) SECTION"—‘TB- o

 Answer any eight questions in not exceedlng one paragraph each Each questlon
- carries 2 marks : : : :

1. What-is social netwo'rking?; o

12. What is infrared transmission?

13, What is network A_topology? B

14 Distinguish 'betv.veen data and infori'nation. BN

15. ,' erte any two benefits of knowledge management

1'6; ~‘What are the different forms of data? -

" 17 (What is artificial inteliigenc;e? :

18. What is virtual reality?

" 19. Whatis green compliting?

20. Whatis online publishing? = -

21, What is electronic contract? -t
-22,.‘ What IS spyware? o | c 4 . (8x2=16 Marks)
" SECTION-C

Answer any'six questions-in about. 120 wor_ds.'Each question carries ,4'mar,ks. :

23. What are the components of information techneiogy? |

-24. Whatis e-mail? What are the advantages?

25" What is video Cenferencing? What are the advantages’?

2 . G-2515




" 35: ~Whatis network topolegy? ..E)’('plain‘d:iffere:nt' topologies.

26. What s e-learning? Explain the levels of e-learning.

27. Elaborate the role of iT in national integration.

~ '28.. Write a note on the applieati'ons of artificial int_elligence:

~ 28, Whatare the objectives of IT Act?

30. 'Explain the types of cyber crime.

31, Which are the methods'of cyber terrorism?. (6 x4 =24 Marks)

S_ECTION -D

Answer any two questions.in not exceedmg four pages each Each questlon carries’
15 marks - . . 4

32 | What is mternet’? Explaln the busuness appllcatrons of. mtemet

33 What is cybercnme’7 Explam the nature and scope of cybercnme

- 34. Whati VIS educatlonal software? Explam,the categorles of educatronal sof_tware.

) ‘:.\

(2 x 15 = 30 Marks)

Y
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Reg. No : T

Second Semester B.Com. Degree Exammatlon, May 2019
| Fll'St Degree Programme under CBCSS

Complementary Course

CO1231/CC1231ICX1231 BUSINESS MATHEMATICS
| "-(Comlmon for CO 1231/CC.12?1./CX 1231)_
| o '(2013,.Admn) | :
T;meli:yéH.durs; S : DO "‘ “:,.. S ’, - Maxf‘Merks":SO'
All the .firstgtO questioﬁs are oompulsory. ;Ea’oh,guesﬁon carries 1 mark.,
2 6 3

_1.‘ Fmdthesumof + =
_ ,3 15 5

4 1) 5 ' . . o '.. .. .

2. Evaluate -3- x[
3 Findthe valus of 14P,.
N 4 Define a SY(hmetri,c matrix. L,
5. Evaluate the detérminant of the square matrix | ol
6. Write the power set of the set A={3,4}.
7. SOlve,_tﬁe'«evquation 14y -18=13. "

_PT.O.



120 1f nC, =10.Find n.

15, Evaldate

8. What is annuity ?

L 9. " Solve the ‘q'uad‘r‘éti(': equation x2 —5x +6=0.

10, Findthe‘ldérivativeofy.'=',‘x2+1+7. e z~-(1'ox1"£1q'marks)-"

X .

e Answer any elght questlons from among the questlons 11 to 22 They carry 2 marks‘-

each.

and C={134,9} ..

4

13.. Sum of two numbers is 95. If one exceeds the other by 15. Find the numbers..

10, FA=|° 2land 8=1% ®lfind 24438, =
4.6) 00 D9 ) T |

W N X

1
X
1

x N N

16. Find the p_rodUct‘ (p-2 —.qz)(‘2p"+ q).

17 -Ify 2x+— provethatx dy Xdy—}"=.0-'

dx2 dx

/ .

| 11g Prove that Au(BmC) (AUB)N (AuC) where A= { 3.4, 7} B- {2 3,4, 8}'4 .

18.. Eliminate arbltrary constants a and b from z= (x—a)"*ar'(y'—b)-2 to form the .

partial dlfferentsal equation.

. [X+a
19, Ix-édx"

r

0 20. If snmple mterest ona certam sum is Rs. 360 for 2 years at 6% per annum Flnd ‘

the sum.

2 . c-2516




21, - After aIIowmg a dlscount of 7;_% on the marked prlce of an artrcle an artlcle ts' o

'sold for Rs. 555 F|nd |ts marked pnce

' 22 A man W|shes to pay back his debt of Rs: 5, 044 due after 6 years by 6 equal |
. . yearly instalment. Find the amount of each mstalment money-being worth 10%-
per annum compound interest. , S _' . (8 X 2 16 Marks)_ 3

- Answer . any SiX questlons from among the questlons 23 to 31 They carry 4 marks"
‘each C _ _
_23.:' The _bafse: of. an isosceles triahgle i'vs% cmj-The perimeter of the t_riangle is

- 41% cm. Wha‘t is the Ie‘ngth of either of t_he'-rem'aini'ng 'eq-ual sides? '

24;[ The table ‘below gives the ages of drlvers of cars mvolved |n total accrdents S
dunng a certain year. Draw a pie-diagram to represent the data :

Ages of drivers | Under 20 | 20- 40 | 40- 60 Over 60 Total

| .‘Percentof,,totals 15 | 60 |. 20 | 5 ~100
(2 1 17 -
25. If A=|-1 0 1 |calculate A>~5A+9/. ‘
SRR I T S| L
1070}
Wherel: 0 1 0}
00 1} *
26, ~Findtheinverse"of' 2 —4 S -

27 At what rate percent compound mterest per annum W|th Rs 640 amount to L
774 40 in 2 years ' : : '

, '283 Dlstmgmsh between Stralght Lme Method and dlmlmshlng balance method.

3 N G- 2516 o




29.
 30.

-31.

,32

e . N . ., .
z e - ! ! A

;2 2

F‘ind a pertra'l differential equeﬁonj by e‘l.iminet‘ing‘ av,:b,c‘ from X— + Y + % =1.

- a® ‘b* ¢

dzy”

‘If y = ae™ + be™™ prdve that W - mzy =0

The total  cost function (in ‘rupees). if “units _of a product is

c(X) x% +78x + 2500 a‘nd the demand function is p =600 - 8x, when the p'rrce .

_is Rs. 1 per unit. Show that the maximum nét revenue (ie, profit). is obtained
Awhen 29 un:ts are produced Also find the pnce at which profit is maximums.

(6x4=24 Warks) )

'Answer any two questaons from among the questlons 32 to 35 T hey carry 15 marks. -

Usmg Cramer’s rule solve

x+y'+z=6,2x+3y'—z=5,6x—2y—‘32=—7.:”v_‘. e

33.
- deprec;ator

34,

35.

Explam the need for’ provrdmg depreolation what are the methods of recordmg_

(@) Explaln bar diagrém.s' " ~
' ! .
(b) Draw a srmple bar dlagram to represent the followmg fic gures relatlng to" |

~manufacturing of machines!

 Years . 1984 1985 1986 1987 1988
.~ No. of machines 1200, 1700 1900. 2800 2100

~ B

(c). - What are the adyantages of diagram and graphs?,

;(a)- Explain different types' of sets and s'et'operations with eXampIes.

-'(b) , 'What are the rules of dlfferentratlon’? Explaln it with. examples

(2% 15=30 Marks)

4. g-2516
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Second Semester B.Com. Degree Exammatlon May 2019
First Degree Programme Under CBCSS
Core Course
FlNANCIAL ACCOUNTING
(Common for CO 1241ICC 1242/CX 1241IT T 1241IHM 1241)

(2018 Admn)
Time : 3 Hours - : Max. Marks : 80 -

SECTION A

Answer all questions in one word to a maximum two sentences Each questlon carrles
1 mark.

1. -~ What israccounting?

2.  Whatis a trial balance? {

3. For what purpose profit and loss account is prepared?
4. What is a closing entry?

5. Whatis prlmage'7

6. What is short sale? -

7. What is the book of prime entry’?

P.T.O.




| 8. Whatis Written down t/alue method of depreci,atio'n?‘
9 Write any two names of accounting concepts. .
10. What is,‘FiXe.d Interest Bearing Securities? - . T (0 x4 = 10 Marks) |

* 'SECTION - B
Answer any ‘eight'que_sticns\irj orie pa:ragrgréip"hj Eech questicn carties 2-_rparks‘.'
11. Whet ate-the Errors ‘Which .are.r.10t disclcsed Ab:yta Tria‘!"BaIance‘?:
- «,.'.12. | Write _e.r_lote on ~ecccuhtiqé»cycle. C .(rlzoxzal 7 :
13, AWritje' 'ev'pot_e_ cn currept liabilities.
: 14. Explairt mcney meesUrement copcep:t,
15 What rs deferred r.even'ue' expenditure?
16.. AState_' whether:"'the following -are capital o'r,revenue ex'pe_nciture.‘

~ (a) Paid a bill of Rs: 10, 000 of Mr. Kumar, who was engaged as the erection
| engmeer to set up a new automatlc machlne costing Rs. 20 ,000 at the new .
‘factory S|te '

‘ (b) !ncurred Rs. 26, OOO expendlture on vaned advertlsement campa:gns under» .
o taken yearly, on a regular bas:s durmg the peak fest|val season

" (c) In accordance with'the Iong-term plan of providing a well- equipped Labour
Welfare: Centre, spent Rs 90 000 belng the budgeted. aIIocatlon for the year

N

17. What are the features of hire purchase'?

2 - oo _ G-2517
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18,

Journalise the following trahSactions in the books of Mr. ROyu

- 2018 April".

1 'He started busmess.wnh a capltal of - Ptant Rs 10 000 Bank
: Rs. 8000 Stock Rs. 12 ,000 -
2 B Bought fu_rniture for resale Rs. '5,'0070‘ LY
3 - Bought furniture for Office decoration Rs. 3,,00'0'
. 4 o b_Paid'-Arent'out“of' persohal cash for Rs.‘. 2,000 :
| 5 S“otd furniture outof those fo'r‘resale Rs. 6,’060
6 | Paid Salary to Mr. Xfor Rs. 1. 200

On 1 2"n June, 201 7 ftre occurred in the premises of a paper merchant. IVIost of .
“the stock were destroyed cost of stock salvaged being Rs. 11,200. In addltlon
‘some stock were- salvaged i in a damaged condition and its value in that condition

- ‘was agreed ‘at Rs. 10,400. From the books of account the followmg particulars

_ were available :-

o .(a) The stock at the cIose of account on 31St December 2016 was valued at' o

20,

21.

Rs. 83.500. ' : A

(b) - The purchase from 1.1.15 to 12 6.17 amounted to Rs. 1 12, 000 and sales '

~during that penod amounted to Rs. 1,54,000. RN

~ On the basns of accounts for the past three years it appears that the f|rm
' earns on an average gross proflt of 25% on sales. Stock for-Rs. 60,000 has
been insured. Compute the amount of the claim.

‘Write notes on (a) Cum dividend or i:ntere_s't.(‘b) ex divide'nd.o-rihterest ‘

‘What are the Advantages of Straight-Line Depreciation? |

3 g-2517




22 On 315t march 2018 Sethu purchased for cash from Ravi-four 6% Rs. 100
'Debentures of M Itd at Rs. 1101% Ex mterest -interest being payable on

1%t June and 1% December each year. How will you record the transaction in the -
. books of. Ravn rf each party had to pay bank commission of 25 paase percent? . -

- (8x 2 : 16 Marks) '.
© SECTION-C - |
'Answer any six queations ri'ot exceheding 120 worde. Eac‘hqqes‘tion'ca‘rries 4Arnarks.-"
23 What are‘the'object'ives of accounfing? |
24. | éxplam the‘ basic concepts of accountmg
«.25 On 1.1 2011 a ‘machine was purchased for Rs. 1 ,00,000 and Rs. 50, 000 vr/as

. paid for mstaHation Assuming that the rate of deprecnatlon was 10% on Reducing
‘ .Bal,ance Method calculate amount of deprecuanon upto 31.12.2013.

26. M.M. Marlee a Shlp Voyaged from Mumbai to London and back on 31‘°’t March '
2018 on.which date the accounts was closed the ship was on her half way back
to Mumbaa from London The details of the voyage were. as under

Fre|ght Mumba| to London Rs 1,00. OOO
~London to Mumbai 60,000
- Coal con‘sdmption 20,000
Stores consumed 15,000
Port charges Rs 10 000 :
. Salanes of crev 17 000
‘ Deprecuaﬂon 186, 000
Insurance of Shlp for. the voyage 20, 000 B

, anage 10% and Address commission 5%

" Prepare voyage account upto 31st March 2018

4 : .. G=-2517




" 27. Prepare an Accountlng Equatlon from the- followmg transactions in the books of
: Mr. X for January, 2018 : ,

1 Invested Capital in the firm Rs. 20,000
-2 Purchased goods on credlt from Das & Co for Rs. 2, OOO :
4 Bought plant for cash Rs. 8 000

8 Purchased goods for- cash Rs. 4, 000

. 28. The value of insurance policy for the loss of stock is Rs. 1,00, 000. Stock on hand
on the date of fire is Rs. 1,40,000 out of which stock destroyed is estimated to be
Rs. 70,000. What should be the amount clalm to be admitted by the insurance
company? :

29. On 1st Aprll 2011, Som Ltd purchased a machlne for Rs 66 000 and spent
- Rs. 5,000.0n shlpplng -and- forwarding charges, 'Rs. -7,000 as import duty,
‘Rs. 1,000 for carriage and installation, Rs. 500 as brokerage and.*500 for an iron
. pad. It was estimated that the machine will have a scrap value of Rs. 5,000 at the
end of its useful life which is 15 years. On ‘st January, 2012 repairs and
renewals of Rs. 3,000 were carried out. On 1st October, 2013 thls machine was
: sotd for Rs 50 ,000. Prepare Machmery Account for the 3 years

¥

30. What are the dlfferences between smklng fund method and annurty method of
‘ deprecuatlon’> '_

'31. Whatis depreciation fund method? Write ‘entrie‘s required. ,
: ' : ‘ ‘ (6 x 4 = 24 Marks)

: SECTION—.DT '

| Answer any two questrons Each questlon carries 15 marks

- 32, X purchased a truck for Rs. 2,80,000, payment to, be made Rs. 91 OOO down and

. © 3 installments of Rs 76,000 each at the end of each year. Rate. of interest is

~ charged at 10% p.a. Buyer depreciates assets at 15% p.a. on written down value

- method. Because of financial dlfflcult|es X, after having paid down payment and
first installment to the end of 1st year could not pay second installment and seller
took possession of the truck. Seller, after spending Rs. 9,200 on repalrs of the
asset sold for Rs. 1 50 000 Show the relevant accounts. :
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33, Mr.A, who is a sole tradér following is the trial balance as on 31 dec 2017
' | . Rs. . }

~Cash at bank
Cashinhand
Drawings
- Bills receivable
- Salary

Market value Rs. 28,000

~ Stockon 1.1.2017
* Land and building -
Tra’v.ellingexpe'hses .
Motorvan |
" Furniture - ..
. Telegram =
Sun'dljy‘debtors:
- iDiScodnt aIIowed
' =Spndry e){penée
Stationary. |
Bank loan interest
Establishment | |
AAdverti.'semént. ;
‘Sales return
. I?urchas}e ‘

© 39,600

61,590
11,800
20,000

44,000
© 24,000
1,27.360

. 80,000

13,800
32,000

16,000

Sales .
1.2% bank loan -
Capital

Bills-payable

Discount received
Sundry creditors
Inyestmenﬁ -

Income from investment
Purchase return. " “

1,600 -

3,600
37,240
3,200

6,000

19,190
2,000

1,228,000

5,000 - -

6,53,400

" 13,19,380

_ 'Additiqnal informafion-

Rs.

9,36,200
~ 80,000
- 1,60,000

5,200 -

2400 . - -
1,26,200

1,980 -
7.400

113,19,380

(2) - Closing stock is valued at 2,40,000

~(b) ‘Maintain a reserve of 10% of debtors as re_ség‘ye for debtors o




2018

Provrde a reserve of 5% on sundry debtors as reserve for drscount and 5%

on sundry credrtors o

Stock worth Rs 20,000 destroyed by flre on 25.11.2017 ‘in respect of Wthh,
the insurance company admrtted the claim only Rs 15, 000

The rnanager of the busrness is entitled to get'a commrssron of 10% of netv, ,

profrt after calculatrng such commission

Charge deprecratron 2. 5% on land and burldmg 10% on furnrture 20% on :-‘
motor van :

-
/

Salarypaidin advance;SOOO.-- . ' ,A T

B Prepare a tradrng and profit and Ioss account on 31 Dec 2017 and balance
-sheet on that date " ‘

Prepare Journal and Iedg_er '

May
1. Mr N. started busmess vyrth cash Rs. 5000 stoek Rs 3000 Furnlture' _-
* Rs. 2,000. s
'Purchased goods fror Mr. Y for Rs_; 3,006. ./
'3.. - P.aid e'*penses Rs. 200 |
| Paid Mr. Y o‘n acr:ount Rs 1,000.
5. .S’otdgdods to Mr.‘ATA.' 'fo} Rs. 4,0‘040,‘.'
I.:’ai_d wa.ge‘_s Re. 800 : |
7. -

* Received from Mr. T in full settiement of his account Rs. 3,950.
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On 1st Apr|| 2016 Janakl Ltd had Rs. 3.00,000 6% Government stock at Rs. 94
(face value.Rs. 100 each). Interest is payable half-yearly on 31st March and

30th September. The company sold Rs. 90,000 of the stock at Rs. 95 ex-interest

| " on 1st June and purchased Rs. 72, 000 stock ‘at Rs. 97 cum -interest on. st

September A further purchase of Rs. 36,000 stock was made on 1st December-
at Rs. 98 ex-interest. Draw up 6% Government Stock. Account in the Investment
Ledger of the company for the year ended 31st March. 2017. Ignore brokerage

‘and income tax. The stock was quoted at Rs 96 at the Stock Exchange on: that

date.
(2 x 15 =30 Marks)
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S'eco‘nd Semester B Com Degree Examination May,201:9 |
Flrst Degree Programme Under CBCSS | |
Foundatlon Course II: CX 1221/TT 1221/HM 1221 (2014 admn. onwards) and
co 1221/cc 1221(2014 admn. to 2017 admn) |
| INFORMATICS AND CYBER LAWS

(Common for CommercelCommerce and Tax Procedure and

- Practice/Commerce and Tourism and Travel Management/Commerce and-
‘Hotel Management and CatermglCommerce wuth Computer Apphcatlons)
Time:3Hous - T Max Marks : 80

SECTION ~A

v

Answer all questlons in one word or to a maximum: of two sentences each. Each
~ question carries one mark :

1. What is extranet?
P ; What is ‘Blog"?
3 Whatis MALWAR‘E‘?-‘
4. What do you mean by artlflolal mtelhgence’?
5 What is Gopher’? o

6.. What do you mean by Biocomputing?

P.T.O.



10.

" Define DRNET. -
- What is cyber ethics?

' Define Wi-Fi. .

What islgreen computing?

| SECTION -B

(10 x 1 = 10 Marks)

Answer any elght queshons in not exceedlng one paragraph each Each question
carries 2 marks. S

11,
12,
93,

" 14.. Briefly explain digital divide..

15

)
| 17.
T
; 19.
20.
1,

22

Explaln the features of Informatlon Technology.

What 13 Wlmax‘7

What do you mea by WWW?

_ ‘What s broadband?

What is i‘nfo'rhwation‘overload?
What do you mea‘n by inte‘rnet protocol?

Explain virtual class room. -

What is cyberlstaikin-g,?

Explain the IT appIiCatioha in r’ﬁedi'cine. |

What is DSL?

~ What do you mean by Dial-up?.

- (8 x.2 = 16 Marks)
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23,

. 31

35

. SECTION-C

' Answer‘any six q'ues,tions in about 120 Words each. Each question carries 4 marks.

What are the difference between data‘ lnformatlon and knowledge’?
24, Whata are the dlfferent types of cyber crlmes'? .
28 What is SAKSHAT?
“ 26. Explain the beneflts of e- somety '
| . 27 Explaln the Ilmltatlons of lnformatlon Technology B
28.. Write a note about 4G networklng | "‘f
29. Explaln the about lT appllcatlon in defence serwce
30. -'erte a note on stalking. | | "
Descnbe the scope of cyber laws. . Y | |
o : (6 % 4 = 24 Marks)
SECTION - D" ‘ ' ‘
o Answer any two questlons not exceedlng 4 pages each. Each questlon carrles_ '
- 15 marks. : - _
32. Explaln the sallent features of IT Act 2000
. 33. Explaln the: Iatest developments in mformatlcs '
34. Descnbe about cyber la‘ws"_m India. - o

Explain the role of 1T in film and media indnstry." '

" (2 x15=30 Marks)
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